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2 Find the polar form in radians ﬁcos(27r rad) 44
of this complex number

p)(cos(l.37r rad) +1i -

?3(cos 1= 37 rad) +1i -
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4 Find the polar form in radians @7(605(1 7 rad) + i -
of this complex number

(Ql(cos(lﬁfr rad) + i -

6(cos(1.7m rad) +
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1
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sin(1.77 rad))
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!(cos(1.37r rad) + i - sin(1.37 rad))

6 Find the polar form in radians ?5(605(0 1n rad) +i -
of this complex number

Ql(cos(o.lfr rad) + i -

cos (1.97 rad) +
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sin(0.17 rad))
sin(0.17 rad))
i - sin(1.97 rad))
sin(1.77 rad))
sin(2r rad))

sin(1.77 rad))

of this complex number

of this complex number

S Find the polar form in radians B

of this complex number

of this complex number

Name:

P4(cos(0.17r rad) +i-

&(cos(o 1r rad) + -

3 _I_ 52 B (037 )+

1(cos(27r rad) +i -

I.2(cos(0.27r rad) +

3 Find the polar form in radians 97(603(0_27r rad)

pS(cos(O.lﬂ rad) +1i-

9(cos(0.17 rad) +

4 _I_ 22 Qg(cos Lo ra s 5

l(cos(O 37 rad) +

I.3(cos(§7r rad) +

1 Find the polar form in radians @1(605(27T rad) + i - sin(27 rad))

sin(0.17 rad))
sin(0.17 rad))
;- 5in(0.31 rad))

sin(27 rad))

i+ sin(0.27 rad))

+ i sin(0.27 rad))

sin(0.17 rad))

i+ sin(0.17 rad))
1

sm(§7r rad))

i+ sin(0.37 rad))

2
X sin(§7r rad))

(cos(0.27 rad) + i - sin(0.27 rad))

&cos(0.37r rad) + 1 - sin(0.37 rad))

8(cos(0.2m rad) + i - sin(0.2m rad))

—_— 5 _|_ 2 Z 92(605(0 3w rad) + i - sin(0.37 rad))

5.8 (cos(0.27 rad) + i - sin(0.27 rad))

!.4(003(0.9% rad) + i - sin(0.97 rad))

7 Find the polar form in radians ﬁ 2(cos(0.47 rad) + i - sin(0.47 rad))

Qcos(0.37r rad) + 1 - sin(0.37 rad))

ﬁ 4(cos(1.6m rad) + i - sin(1.67 rad))

3 5 Z g(cos(l 67 rad) + i - sin(1.67 rad))

cos (0.37 rad) + i - sin(0.37 rad))

I8(003(1.77r rad) + i - sin(1.77 rad))
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